2019年全国高校基层党组织和党员队伍状况统计工作
系统校验逻辑项

数据逻辑校验：表1
    # col: 1 = 2 + 3 + 4 + 5
    # col: 2 = 6
    列关系校验：1 = 2 + 3 + 4 + 5
2 = 6
列关系增加 9 >= 10 + 11
    # row: 01 = 02 + 03 + 04
    行关系校验：01 = 02 + 03 + 04

数据逻辑校验：表2
    # col: 
    items = [01 + 02 + 08 + 09 + 10 + 11]
    列关系校验：3 = 5 + 9
    列关系校验：5 = 13 + 14 + 15
    列关系校验：5 = 16 + 17 + 18
    列关系校验：1 >= 2, items=items
列关系校验：1 >= 3, items=items
列关系增加2 >= 5
    列关系校验：3 >= 4
    列关系校验：3 >= 5
列关系校验：3 >= 9
列关系校验：4 >= 6
    列关系校验：5 >= 6
    列关系校验：5 >= 7
    列关系校验：9 >= 10
列关系校验：9 >= 11
列关系校验：10 >= 11
    # row
    items = [1 + 2 + 3 + 4 + 5 + 6 + 7 + 9 + 10 + 11 + 13 + 14 + 15 + 16 + 17 + 18 + 19]
    行关系校验：01 = 09 + 10 + 11
    行关系校验：01 >= 02
    行关系校验：01 >= 08
    行关系校验：02 >= 03 + 04 + 05 + 06 + 07, items=items[1:-1]

数据逻辑校验：
表3
    # cols 
    列关系校验：1 >= 2
    列关系校验：1 >= 3
    列关系校验：1 >= 7
列关系校验：1 >= 9
列关系校验：2 >= 4
列关系校验：4 >= 6
    列关系校验：3 >= 4
    列关系校验：3 >= 5
    列关系校验：5 >= 6
    列关系校验：7 >= 8
    列关系校验：9 >= 10
列关系校验：7 >= 9
列关系校验：8 >= 10
 # row
    行关系校验：01 = 03 + 04 + 05
    行关系校验：01 >= 02

数据逻辑校验：
表4
    # cols 
    列关系校验：1 >= 2
    列关系校验：1 >= 3
    列关系校验：1 >= 4
    列关系校验：1 >= 5
    列关系校验：1 >= 6
    列关系校验：1 >= 7
    列关系校验：1 >= 8
列关系校验：1 >= 9
列关系校验：1>= 5+6；
1≤5+6+7，
跨表间校验：1 <= (表一)10  
跨表间校验：8-01（表四）﹤3-01（表三）
    # row
行关系校验：01 = 02 + 03 + 04
数据逻辑校验：
表5
    # col
    列关系校验：1 = 2 + 7
    列关系校验：2 = 3 + 4
[bookmark: _GoBack]    列关系校验：2 >= 5
    列关系校验：7 >= 8
列关系校验：7 >= 9
列关系校验：8 >= 9
            3>= 5
    # row
    行关系校验：001 = 009 + 012 + 015
    行关系校验：009 = 010 + 011
    行关系校验：012 = 013 + 014
    行关系校验：015 = 016 + 017
    行关系校验：001 >= 002
行关系校验：001 >= 008
行关系校验：002 >=003+004+005+006+007

